
II-11-52

Hall sensor

Find B that gives V  = 2  V for I = 1.7 A

(..) parameters that are particular
to the Hall sensor

II-12-21
Find a such that B(P) = 0
Magnetic field due to the arch is

into the page

Þurfum I up the page to counteract this

so we need

II-12-30

Attraction for parallel currents (check energy density..)

Attraction

For antiparallel currents there is a repulsion between the currents
(best understood from the energy density of the system, and how
it changes as d is varied..)

II-12-48
Find B caused by the homogeneous currents




